
Assembly Instructions
Fixings Supplied:

M6 Wrench
x1

M6 x12 (4)

Use with flatwasher

• Use M6 wrench to align all bolts.

• Be careful not to cross thread.

• Tighten all bolts when fully assembled. 

Avantage Australia
Phone +61 3 9989 5850
74 Scanlon Drive, Epping, VIC 3074, Australia.
sales@avantageaustralia.com.au | www.avantageaustralia.com.au

1.    Assemble each cage.

2.    Join two cages together using the
       joiner bracket and M6x12 (4) and
       M6x30 (8).

3.    Fix cage to ground or wall as
       required.

• JBA0001
• JBB0001
• JBC0001

3

1

1

2

Joiner Brackets for joining multiple 
cages together.

M6 x30 (8)

Use with springwasher  
and flatwasher


